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Read the following passage and answer the 5 questions after each.

The objective of the study to formulate an integrated master plan for environmental
pollution control based on the research, survey and analysis on socio-economic activities
and water pollution from cities, industries and etc. In the state of Mishigan. The specific
objectives of the study are: development of a master plan and a strategy to control and
reduce the water pollution and to improve water quality of the lake; measurement and
monitoring of various pollutants including BODS, COD, SS, DO, pH, Cl, Temperature, and
visibility; Determination of the contribution of each pollutants; Preparation of dispersion
map of pollutants; Determination of the contribution of various sources of pollution
including domestic, industrial and business offices; Establishment of a warning
communication system; Establishment of the standards that can be achieved with in the next
five and ten years; Establishment of marine pollution control research center; Development
of an educational program for awareness of the general public, technicians, and engineers to
cope with the problem of water pollution; and development and transfer of technologies
required reducing water pollution from industrial sources including physical, chemical and
biological treatment processes.

46-The objective of this study could be mostly achieved by:
1) Research 2) Survey 3) Analysis of the data 4) All of the above

47- It seems that specific objectives of the study are:
1) Can not be counted 2) Less than five items 3) 10 items 4) over 20 items

48- From the objectives, the most suitable time required to achieve the goals could be
estimated to be:

1) two to three years 2) one to three months

3) two to five weeks 4) up to six months

49- The BODS5, COD and DO parameters are mainly considered as:
1) Physical, chemical and biological parameters

2) Physical and biological parameters

3) Chemical and biological parameters

4) Non of the above

50- According to the objective of the study, the data will be collected from:

1) Discharges of water pollution from the cities

2) Discharges of water pollution from industries

3) Discharges of water pollution from the cities and discharges of water pollution from
industries

4) The water quality of the lakes

Please fill the blank space by selecting the correct word in the below questions:

51-The purpose of coagulation is to alter the ......... so that they can adhere to each other.



1) Dissolved solids 2) large particles 3) colloids 4) soluble solids

52-The amount of oxygen required oxidizing a substance to carbon dioxide and water which
is calculated by stoichiometry is known as ......

1) ThOD 2) COD 3) BOD 4) TOC

53-The primary purpose of the bar rack is to remove ...... that would damage or foul pumps,
valves, and other mechanical equipment.

1) large objects 2) grit 3) suspended solids 4) organic particles

54-The anaerobic digestion of complex wastes involves three stages which are in sequence:
1 )methanogenisis, hydrolysis, acidogenisis
2)hydrolysis, methanogenisis, acidogenisis
3)methanogenisis, acidogenisis, hydrolysis
4)hydrolysis, acidogenisis, methanogenisis

55-Liquid that passes through the landfill and that has extracted dissolved and suspended
matter from it is called .....

1) leachate 2) black liquid 3) mixed liquor 4) residual
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